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i2=-1,(1,®, ®?) are the cubic roots of one .

i, T , K)is aright set of unit vectors .

2laillg G1691L Ciliiodll cubi go
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@ If Z = w*, where x is a positive integer, To=¢ oS5 13|

then|Z|=............... 3
b= M > e

............. AR

@1 ® w @) @
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@If the direction angles of a straight line P s olosl Llgy eslS 13
are: 0y, 0y and 6, ,then AL

Y D .2 2, _ _ Y A\ Y i

sin® 6, +sin® 6, + sin“ 6, =......... | —ée\?.+uée&?+we\?dp

—2 ® ~1 - @ v— (D)
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@ If O 13
Ll: X

=2t1_1,y= t1+1,Z= tl_]‘ﬂ

o\ -|—\EJ=ué ¢ \—\GJ‘I=U’“:\L5

and g
Lyx=at,—1,y=2t,+1,z=bt, —2 \
are parallel , thena+b = ................. TS \_*@Pq’w:vd ‘
Y—qu=é
........... =< +Pd¥9wﬂ}~“

@4 ® 2 r©@ 20
©6 @ 2 SO S,
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15 ,

@In the expansion of G + xz) according to | NGNS 3K B
) £

the ascending powers of x, find the value of | .31 13 wagi Luslad) o ¢ 5

the term free of x, then find the value of x A o Edai e S

which makes the two middle terms equal. £ y
q o sleits e oY pusd Jasd
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@Find all the different forms of the equation of | i35\ dalisd) o)) g
the plane passing through the points:

(170>0)3(03290)3(070)3)‘ \

¢ (J.:L,acv‘_).b.,a) ¢ (Wcji,ac\)

(V¢ y0 ¢ ya0)
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Investigate the possibility of solving the
following system and find the general form

(5)

of the solution (if it exists).

2 —4 -9\ x
(43 9)0)-
-3 6 9 z

i sl o SY Pl > LG oyt

(323 0f) $ 1 o
\ o - g ¥
22 | =1 e L R
\- & Ty
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(®)1f z=(1+v3i)"and |2] =8,

then the principal amplitude

TS TN ) = o513
A=|El

: s AN At 6
of the numberZis ...... & saall Y ol
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C)Hﬂmmmmm%ﬁh—y+22+4=0,
X +2y + kz = 2 are perpendicular,
thenk=...................

£ sl O 13)
¢ o=t EYp o Y
L YT SR
............. =& OB poelaie
vO© =0

\ \
v O SN ©)
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Without expanding the determinant, s adslaad) S susadl &8 G s

solve the equation:
o o

1 x x .
e = [NV
x 1 x| =0
RS SRS
x x 1
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@ Prove that the two straight lines:  etans] Ol Cedi

F{ = (3,—1;2)+t1(4r1r3) and (\""\ ¢ i)\C“J—I—(Vc\—cV)=\7

6 =(0’4 ’_1)+t2 (1’_1’2) (V c\—c\)vejﬁ—(\—cicjip):r‘;c

are skew. ol
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@ The number of terms in the expansion of : ;3 $Sad) 39us sus
(x+y)2°19 + (x—y)2°19 V.M(u"—u“) +Y.H(u"+u‘)
after reductionis ............. ... | o Lol
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IfZLF,ZL? = LT S LT s
9?2(2;3;2)9F=(1;2;1)9 c(\ch\)Z;c(VLVcY)Z:
|/T|| = 44/2, then 4 =...

® (2,3,1) (verev) D
® (—4,0,4) (¢t e ct=) @
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@ Answer only one of the following two questions: | 1.za ;31 d1iudt dsi e con
A)IfA(0,0,l)’B(1,0,0)andC(0,1,0) ¢ (\LJMLJM)PQ\{‘DL(T)

, find the orthogonal unit vector to the (e o))

plane ABC. (S22 e e o) =

Lf\""-;b}“; 3.\>-_5 aAe «.\:.-33

B) If the two spheres: P sl

(x+ 12 +@y—-4)2+(z—-k)?* =25,
(x=3)2 +y2+(z—3)2 =16 £ 06, o8 13 (w)
are externally tangential, find the value of k. | « To="(@-&)+"(t-)+ '\ + )
V=1(r=g) + e+ (Y -)

& b amgi 7N e il
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The number of ways of selecting a team of | 51 31 v 0 (8 325 Jlas| 3 b sae
7 members out of 9 girls and 5 boys, if the 5B Y 0wl 4

team has 3 boys only equals ...... Loas N v e S5
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@ The value of : °°C, + 26: Y ool o
i 4 2 3 vu Z + id Aod
V=
equals ...................
q ............ g_;jLaﬂ
@ 56C4 @ 5662 VUO-\ iuo"\
@ 55C4 @ SSC3 vuoo iuoo

r19/0-1A Joll joaJl - A=alpol Aulhhl) A A i



YoAA/ Y0 ol 5l pladh - J9¥1 5 9utdt - (2 susody WY ARILY) Al 5l Askigh g il - ol Ay 301 el yuld) ALYY 3316l loncha

If x4+ y*+2z2—-2x+4y=0 s oS 13
is the equation of a sphere of center C Ao =t e V=T e T
and radius 1, then ............ ¢ 23S 08,5 Dolae 2

............. OB ¥ o lad Cagas J b
@ ¢ @,-2,0),7 =5 unit by o v =1« (Gaer—\)e (D)
® ¢ (~1,2,0),r = V5 unit I TN LIS @
© €@,-2,0),r = 5units Simyo 212« (it — ) @)
@ ¢ (-1,2,0),r = 5units Cld=90 =14 « (Lo Y\ —)¢ @
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Answer only one of the following two questions:

A) put the number Z = in the

8
143
trigonometric form, then find its two

square roots in the exponential form.

B) Solve the following equation in C:

(x—1)°-9(x—-1)3+8=0

NN RN [l [0 [PV (NP PPy

A &
—r sadlaa()
S

2l gl o A1) gl B
318y gl B e 3
P = B A Asladdl Y (©)
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